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Lesson 1.11 Objective: SWBAT find inverse functions
and determine they are inverses.
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5) If f(x) = x* +4 and g(x) = 2x+ 3, find f(g(- 2)).
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1) If f(x) = 5% - 1 and g(x) = 3x— lfndg(f(l))
£()=50-) gEN=30 -
TOFCEECICAENN

3)I62) = 255 and §) = /., cvaluate (£ (36|

fl)=2(0)-5 450 = 30
fly=1T  geo=0C

o \ﬁruﬂb@’"’ |

2)If fx) = 2x+4 and g() = x* + 1, find (2 Q).
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4 If fx) = 7— and g(x) = x+ 1, evaluate (£ 2(0).
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9) If fx) = 3x- 5 and g(x) = x- 9, find (f* ().
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11) If §x) = 3x+5 and g(x) = x* + 1, find g(f(x)).
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16) Given: £x) = ~/2x+ 5 and gx) = 6x- 3,
o Find g(§10))
b. Find (f*@)(x).
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16) If f(x) = > and g(®) = 8x ,
a. Find (£ ()
Find(E* 9(27).
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Test Review Inverse Function -

Determine the domain and ranze based on the praph below. (M/v\%l Y\ M\{
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4) Prove that f(x) and g(x) are inverses algebraically.
f)=Vx—2-1
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2) f(x)= =5x—11

4) f(x) =%x+7
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6) flx)=vx -4

8) f(x) = 4(x + 8)?

10) f(x)=27(x—-1)3
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